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Il Semester B.Com. Examination, May/June 2014
(Repeaters) (Prior to 2011-12)
COMMERCE
Business Statistics

Time : 3 Hours Max. Marks : 90

Instruction : Answers should be written fully in English or in Kannada.

SECTION-A

Answerany ten sub-questions from the following. Each sub-question carries 2 marks.
(2x10=20)

1. a) Define Statistics.

b) Mention four functions of statistics.

c) What are requisite of good average ?

d) Given Mean =202 and Median =221. Find Mode.

e) Mention the types of averages.

f) If bxy = 0.8 and byx = 0.6 find r'.

g) How range is calculated ?

h) What is a questionnaire ?

i) Give the formula of FRT.

j) What is current year ?

k) If C.V.=21.43 and Variance = 144 find X .
I) What do you mean by correlation ?

SECTION-B

Answer any 5 questions. Each carries 5 marks. (5%5=25)

2. Find the Mean from the following :
Marks below : 10 20 30 40 5 60 70
No.ofStudents : 18 35 58 73 8 9% 100
P.T.O.
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3. From the following data calculate Median.

Midvalues : 10 20 30 40 50 60
Frequency : 5 10 25 20 15 5

4. From the following data compute Q.D. and its coefficient.
Marks : 20 25 30 35 40 45 50 55 60 65 75

5. Calculate the Rank Correlation coefficient from the following data.
X:4 60 72 62 5 39 52 30
Y 62 78 65 70 38 54 60 32

6. Compute standard deviation from the following data :
X:.3 4 .5 6 7 8 9
f 2.8 8. W 447 1 4

7. Obtain the two regression equation from the following :

Series X Variance
X 20 4
Y : 25 9

Coefficient of correlation = 0.75.

8. Calculate missing frequency given Median = 28.
Classinterval : 0-10 10-20 20-30 30-40 40-50
Frequency : 5 ? 15 16 6

9. Construct the cost living index number by using Family Budget Method.

ltems : A B C D E
Qty. B0 100 60 30 40
Price 2005 : 6 2 4 10 8

Price2010 : 10 4 6 12 12
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SECTION-C
Answer any three questions. Each carries 15 marks. (3x15=45)

10. Compute the Mean, Median and Mode from the following :
Midvalues : 115 125 135 145 155 165 175 185
Frequency : 9 25 48 72 116 60 38 22

11. Two brands of tyres are tested for their life. If consistency is the criterion which
brand of tyres would you prefer from following information.
Lifeinmonths : 20-25 25-30 30-35 35-40 40-45
Tyre X : 1 22 64 10 3
TyreY : 3 21 74 1 1

12. Compute Karl Pearson’s coefficient of correlation.
Supply : 30 2 20 25 24 25 23 21 18 15
Demand : 11 12 13 14 15 16 15 17 18 20

13. From following information calculate (a) Two Regression Equation
(b) Most probable value of X when Y = 70.
X : 42 44 58 55 89 9B 66 72

Y : 56 49 53 58 65 76 58 61

14. Compute Fisher's index number and show how it satisfies the TRT and FRT.

Year
2005 2009

ltems Price Qty. Price Qty.
A 2 100 3 110
B 5 80 10 80
C 4 50 7 45
D 6 10 6 20
E 2 60 4 60
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B3 FSNT O3RF)TT3R 10 gzé’tr{%iaig* YUZ0R. B @Eﬁﬁ 2 e203nsd. (2x10=20)

1. a) FoLTRF DA
3 F & 33
b) ﬁoso%m@cd DO, TODF T, TR
C) 20T YUBEI0 WRTWO ATIROOD @32-*’33% ©203M%h 0INR)R) ?

d) %0t TE08T ATeRD = 202, d)@e’sﬁ =221, $3T3 900 WIS za‘oaﬁ@cdadg{ BOT
&G30200.

€) DG ZTIRONIRO THROR.

f) bxy = 0.8 =23 byx = 0.6 shwN ﬁaﬁﬁouoﬁddg{éocﬁa SROWD.

) woafdﬁail Zen d%},a‘b@ra_otﬁ ?

h) TRV 0mTe0?

i) 03 a’adocg;md WHETE TOBOD 1@§$§1 WBCAD.

j) @8 IR D0TBe?

k) C.V.=21.43 mone R58= 144 Qe A500000% X 82,5030 &&00.

) 3B B0L0T 0T3O ?
NLTON - W
o3RRTOWCR 5 @%ﬁ@ﬁ CVZOR. FS gsiﬁ 5 ©308n0. (5x5=25)

2. B3NS mﬁ‘% ness ﬁmﬁ@oﬁ'&i}{ BOTO SBOAD.
soFnenoszR= : 10. 20 30 40 50 60 70
&}mﬁarﬁeé ﬁoaj; : 18 -3 B8 73 80 9% 100
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23 380 RPBSCU0T BRFF T FUBOIR WYY LT RS TOEIBESR, TORD &BA0.

wosnsd: 20 25 30 35 40 45 50 55 60 65 75

3069 B ROLIOTRBI BOTO LRC2D.
X : 46 60 72 62 5% 39 5 0

Y : 62 78 65 70 38 54 60 32

31 8NS5 Tm08M0T v (SD) BRPEBR) B0 HEBOWD.
X: 3 4 & & 7 8 8

f : 8 3 1. W4 7 12 4

B33INT T 0BOOT DT BSIT03ED ﬁme%deaﬁ@.ﬁ@ REOWD.

2083 [TIRO ng:%’
X 20 -
Y 25 9
RBROWOG Nesoos=0.75.

RGER) 28 AR 3 BT SSLI] o@D SHROD.
=ne : 0-10 10-20 20-30 30-40 40-50

ema : 5 ? 15 16 6
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9. 2363 He3 Rees, 0BRR), BINS T2 08, 363000 L0020 DHIITS TR GROND.
E3laplat e o R B C D E
Zwrs . 50 100 60 30 40
133(2005) : 6 2 4 10 8
3e3(2010) 10 4 6 12.°° 12
TN - &
CERPYTTTR 3 BINVR Y03 (3x15=45)
10. 323N &SR0T FTVRD, WGT 308 WHIT Ford &R0,
mqgsmoda 115 125 135 145 155 165 175 185
ok 19 25 48 72 116 60 3B 2
11, TR 3,06 07N 23603 e:aﬁ@od:dg{ aﬂaeﬁfj’mﬁ 83 8B0mo8 FOTo0B LY NG,
RENTO[Y : 20-25 25-30 30-35 35-40 40-45
X#ondmoss, 1 2 64 10 3
Y¥orne oy 3 21 74 1 1
ATB000 00T s8¢ ORI 23,0087 R, S edRN0 ?
12. 83 3BNT QRODNLT T e QOIR* FTT BBAOLIOGTRR, FOTD SoFOWD.

Fp3E(Supply) : 30 29 20 26 24 25 B 21 18 15

BdeRké(Demand) : 11 12 13 14 15 16 15 17 18 20
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13. 3PNT &S00 (a) TR &0BOFOD a’meﬁdeaﬁeﬁs% 30w &ED. (b) Y @ 23370
BTG, X & LS00, oToTR.’

X : 42 4 58 5 8 98 66 72

Y : 56 49 53 58 656 76 58 61

14. 31 39NS TRO0T 807 BEBF Ao, 0By Fom 8RO, i Bk TRT So8FRT

ﬁaeﬁhﬁ%*dgk %&Jmeﬁ*’mgdowd@ 3Re0R.

SRonted

A

B
C
D

m

SR - 2005
g3 Z@we
2 100
5 80
4 50
6 10
2 60

3R - 2009

263 Zmes
3 110
10 80

7 45

6 20

4 60




